>4 <

WRHT 2K )L

202445 H1H

2024 5 AR

RIRE P ER

W

7K

E-ZJ9FrU
NEEUESY o
4G 10:30
£ 8 ¥2,300
—fi& ¥2,700

ECurrlg A
7 3G 10:30 9 10 11 ae 5 a0
£8 ¥2,300 B ¥2,300
“h ¥2.700 —z ¥2.700
2HVFFTIVR J45)(F—-E-BDE FIIVAFrUL EJIFvrLIE
6G 13:30 4G 13:30 4G 13:30 4G 12:30
HB—AME: ¥2,000 |£8 ¥2,500 £8 ¥2.700 £8 ¥2,500
—fi% ¥3,100 —#% ¥3,100 —#i% ¥2,900
EJJFvrLIIE J45)(F—-E-EDE OBF (JBC) Afil&=
4G 20:00 4G 20:00 4G 20:00
£8 ¥2,500 =8 ¥2,500 £H¥ 2800
—#% ¥2,900 —#% ¥3,100 OBF(JBC) A /\—
H=PRES E-sFvL @ it
2G 9:30 26°70:30 e
12 =58 ¥2,800 13 14 15 =8 ¥2,300 16 17 18 4,%% 32,%?)0
—8 ¥3200 —8z ¥2.700 —1 ¥2.700
JUIU=LFrLIIMN=Z|LYFEDF LS JUIL=-LFrLIi-X “ i—j - EJTJFvPLIIL
4G 12:30 4G 13:30 4G 13:30 ANVFI A IBIUF 26 1230
28 ¥2,500 28 ¥2,700 28 ¥2,500 °c 230 4G 13:30 28 ¥2,500
—# ¥2,900 —# ¥3,100 —# ¥2,900 ¥2,000 =8 ¥2,700 i ¥2.900
EJJFvrLIIE LyFELFPLL OBF U—4
4G 20:00 2% 29 9% 3W 4G 20:00
f% ¥2:900 —h% ¥3:100 )— T B FRA IN—
(BAE5Foo el 8 E-C0FL @ ettt @
RIS WEBPUE
L) | 4 0 4G 10:30 4G 9:30
20 21 22|33 239123 24 25|15 2 3%
= —fg ¥2.700 —1% ¥2.700
28 AFSTOFPUIL FIIVAFrUIL ESdF LIS JUOU-bFrUITU-X
4G 13:30 4G 13:30 4G 13:30 4G 12:30
=8 ¥2,700 £8 ¥2,700 £8 ¥2,500 £8 ¥2,500
—#% ¥3.100 —# ¥3,100 —#% ¥2,900 —i% ¥2,900
VL e e kit | 28 2FSoFpLL D | HEEEIRERDEEEN ) A OL-LFpLITDI-X
p - 4G 20:00 : 5:00 4G 20:00
o £8 ¥2,700 e 00 £8 ¥2,500
= oo —#% ¥3,100 1000 —#& ¥2,900
J=PEME EcuvFvL g
4G 930 ‘J‘JGJJ110 30
o)l =5 ¥2 800 27 28 29 £8 ¥2,300 30 31
—8 ¥3200 Z8 ¥2.700
— SPRITeC eneeaneas R e e LRI s
Eé:l;:r-;:l;o_;_;_J 2HYFFTIIR J;gbé}ggu_;u v 'J‘**D’Dﬁ 4|:c_;:|1a'-3173L6_;_;_1
3 12 6G 13:30 3 :
28 ¥2,500 ! £8 ¥2,500 =5 500 £8 ¥2,500
—§& ¥2.900 AR ¥2,000 | “gn ¥v5'900 400 25 ¥2 900
EVIFPLIDY  |ogpi—sy MFIOH
4G 20:00 AW 4G 20:00 4 0:00
=8 ¥2,500 NS =5 000
= ¥2/900 V=T BERA N — 400
= 1m B IR | ] in
5 A 1H (%) 5 B 21 5 (%) 5 A 29 H (%)
13:30~[4G] 20:00~[4G] 13:30~[4G]
20:00~[4G] 20:00~[4G]
[ & e ] L2 ] [ £ 0% ]
=8 3,000H n%3,500Fq =8 3,000H
—fg 3,400 [ —fx 4,000 1 —fi% 3,400 [




